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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1 v et T, Formh Wi 7S £ (S ) &, F TH T (n = 4/3) F @A ST
21 3= F ZUUT FT Bierel FETS FAT 2R

A convex mirror of focal length f (in air) is immersed in a liquid (u = 4/3). The focal
length of the mirror in liquid will be:

ans X1 (4/3)f
X 2 (3/D)f
X3 (7/3)f
vt

Q2 fRu Iv argai & WHg & FEY H TEH

ey o Yo

Ans

”
Technology

Q.3 A 2018 # 96 AHY F FTAR FARER d & TS AT WL FA
%"?

‘Who is the MD and CEO of Allahabad Bank as of March 20182
xS sTga
Arundhathi Bhattacharya
52 i
Chitra Ramakrishna

Ans




Brar omAT
Shikha Sharma

39T HAJHIAUAS
4. =
Usha Ananthasubramanian

& 3.

-

Q4 gfr 9x6=457x4=33 3 6x4 =20 % ar
5% 3 T AT fhael gHEM?

If9x6=457=4=33and 6 = 4 =20, then what is the value of 5 = 37
Ans X113
V216
<324
X410

Q.5 Fuw, 3 T HW & 9 vH &b H AT T TTH H FF H A9 Few,
I F S 07 3T AW a7t w1 e gaml ol A e ST e gam?

Tapas, Avi and Rishi shared a cake. Tapas had % of it, Rishi had i of it and Avi had the
rest. What was Avi's share of the cake?

Ans 3
p G
5

2
K2z
6

3

p G R
6
._{"43
6

Q.6 FFEcH® T T & o frgdhr & far &
Negative acceleration is in the opposite direction of:

Ans _ a-;l-

Q7 fymr o & Frw TG B FHE T AT GE g
Which of the following numbers will have an irrational square root?
Ans o 1.2048
< 2 2401
< 31024
< 4 4096

Q.8




E

FUFT ged H, TI9 AB @ FIR@ DE ¥ D fig W Fews P agrr e
% If¢ AB = 12 cm 3T DE = 8 cm &, a BD & o@s AT Hi

" B
D

E

In the circle above, chord AB is extended to meet the tangent DE at D. If AB = 12 cm and
DE = 8 cm, find the length of BD.

| e e
46 cm
){'2.6 HETHIET
6 cm
J3.4 HETHIET
4 cm
x ;O WA

5 cm

Q.9 f=fafaa & ¥ frw sfafEar g s==r vt awlr aget &
g 77

By which of the following processes are metals of high reactivity extracted fro
molten ore?

Ans
5, e
Calcination

Electrolysis

m ¢

| Roasting
, 39gFd Tsic AR

" )
K03

x

Reduction by an aﬁﬁi‘ ate reducing agent

Q.10 13 AreY == v W T WA T TGN &, S HI A B Sl
12 X 39 & A 6 Ui 1 4 g W W@ §U S A qSh K g@l
3R F AT ST A ¥ WA TF 5 Al S5 aF Tged 8| I A

dtss A Aew?

A ladder 13 m long reaches a window which is 12 m above the ground on side of a street.
Keeping its foot at the same point, the ladder is turned to the other side of the street to
reach a window 5m high, then the width of the street is:

Ans {1. 17;\131
17m
16 HIET
l16m
14 HIET
14m
15 HeT

15m

~ 2

& 3

~ a

Q.11 [




SAH W i AT TF TYEF g ?

Which of the following is a Saprotroph?

Ans hadL
X "
Pigeon

JZ-SJ -.D‘c

Mushroom

XBW

Q.12 frafef@s # & f5w 3cme & 7o # 3fX @R & sRomrrews, 7§ somt &
e # giy gl Brmer S garehfa gem

An increase in price of which of these products will have a ripple effect in increasing the
prices of many products, thereby resulting in inflation?

Ans =
1 HTerAETSer
Automobiles
" ) ;
Petroleum

AT

| Smartphones
p ; :

Medicines

503

Q13 R v Reredt @, e R & gAT 0 w7 v

Image

Options

-
ra|
A B C D

From the options given, select the rotated version of the following image.

Image

Options

A B C D

Ans X1C
X 2B
¥:D
XA




Q.14 &F v Fua w7 T Afaw 3§ @i fiSe & sla ar @) s s &
&1 T FATFIET FT ARPF T F IO A § (T )

FUA:
FEIRT T FATEIT HcATE 9¢ @ & S el ogeh TT Y AN g
it & Siae T F PR 3 W R

fors:
1. TP T 2 FowE T (e aofet angel
2. FER FT 37 TAXAT F TR0 &1 ART 3N A9 & e @i Awe
e AT

Consider the given statement true and decide which of the conclusions logically follow(s)
from the information given in the statement.

Statement:

The population mn metro crties 15 mereasing tremendously which leads to the shortage of
living space and a drop in living conditions of the people.

Conclusions:

1. Government should re-plan city development.
2. Government should demolish illegal buildings and build cottages for people.

Ans xq_aa‘ﬂ 3R 8 2 TR AT B

Neither conclusion 1 nor 2 follows.

) heel feisehy 2 31e]H0T e gl
Only conclusion 2 follows.

| TS 1 3 2 Sl e A e
Both conclusions 1 and 2 follow.

| e foIsH 1 STEeT wa g

Only conclusion 1 follows.

x

x

-

Q.15 sireen Fffer & ~gdsa & & TR & @

Which of the following is the last element in Newlands Law of

. Y
Radium
qifTH

Thorium

EIE

Iron

X4 SUEDE
Rhodium

o 2

& 3.

Q.16 3fg sgere 3l mftae & & 3ia7 2 8, & AftaeT 2t mrew & &= o 71
Fifaw (Rvarsad

If the difference between the mode and median is 2. then the difference between the
median and mean is: (in the given order)

Ans X1-2
v
<33
<44

Q17 7= v aftwy # 7% w0 swer F E T AT & & w7 oA

‘When a number of resistors are connected in series in a circuit, the value of current:
Ans
o, 3T gl ST &
becomes half




v: = RGN
remains the same

, el §
mecreases

, T B &

decreases

x

x

Q.18 gag X 3R Y vs 9% # vH gEy F AT A9 @ § 79 A oF gEt @ e
g Y & o W X F e 95 81 X G far # g a w2

In the morning X and Y are walking towards each other in a park. When they meet each
other, Y’s shadow falls straight in front of X. In which direction was X facing?

Ans qﬁa?r
.
West
Il

North

52

e
Q_f 3. ™
East

gfaror

South

p

Q19 37 a1g F1 AH FAC 5 AT F AL F FET S

Name the metal that can be easily cut with a knife:

Ans
Ko T
Copper

Aifzgs
Sodium

=T

' Gold

F AR

Aluminium

o 2

53

Q-20 gy 3t selifRieT 913sT H e 9T i €Y 3 ST g
Which gas is released when water is added to bleaching powder?

Ans 1 FTE ST HFAES
Carbon dioxide
X2 HTFHIAA
Oxygen
FerdreT
Chlorine
GECiED)

‘ Hydrogen

v &)

X4

2 frafolila 7 ¥ @i H v Pegerer searad &
‘Which of the following is not a Triangular number?




Ans  of 115
X 23
X 310
X 45

Q.22 fgw 717 JEFaedt H @9 AW F T IR Tg aF F F Fle § Tvpy gFaedt
# 8 AT w1 & e ar g6d §)
CEGEN

1. F© ool Al &)

2. T Afeorar @eg 76 g

o
1. FO W @Eh A
2. o Hieorl & g

Consider the given statements true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:
1. Some fruits are vegetables.
2. Some vegetables are not edible.

Conclusions:
1. Some fruits are not edible.

2. Some vegetables are fruits.

Ans {.1_%3{%@?&214'3%

Conclusion 2 15 correct.

, Faet oISy 1wl &l

Conclusion 1 15 correct.
J 3t 2 g1 T@Er g1
Both conclusions 1 and 2 are ¢

, 13T 2 gt e =T &

Neither conclusion 1 nor 2 is corrac

x

x

x

Q.23 fZw v gee @ eeEE 76 3R A fF S8 e’ o &
Foell F § Pl w=eT 22

Far X - 5 T TE §2 X uF aedies qem . 4

1. X -15 ush qufier &
2. X -10 ws R{us quiiss &

Consider the given question and decide which of the following statements 1s/are sufficient
to answer the question.

Is X — 5 even? X is a real number.

Statements:

1. X - 15 belongs to mteger
2. X —101s an odd integer

Ans X1.W1 3T Fua 2 g T

Both statements 1 and 2 are sufficient

v
el FUF 2 AT § STk shael w1 HIAT &

Statement 2 alone is sufficient while statement 1 alone is insufficient

x&av—rﬁam—rﬂ X Foer 2 e @67 &

Neither statement 1 nor 2 is sufficient
54
Fdel FUF 1 AT ¢ A8k haol U= 2 HUAT ¢
Statement 1 alone 18 sufficient while statement 2 alone is msufficient




Q.24 40 Fraramm s v arg aifas e 7 5.0 e wf Fhs B oafy T 9w
@ &1 =ad A 10 ey 9y S5 o o F e saw e T R
Torgar grem?

A 4.0 kg object is moving horizontally with a speed of 5.0 m/s. To increase its speed to 10
m/s, the amount of net work required to be done on this object is:

Ans 150 Sl
v & -
1507
50
X 2 o
507
75 3T
X 3 -
75171
100 ST
X a b
1007

Q.25 ReaEe 39ard ' HH 9 S T & oEF HiT g7
‘Who is the author of the speculative fiction book ‘Half of What I Say’?

Ans x ATFar rger
Namita Gokhale
, orfer arey
Shashi Tharoor
Vs A Aaa
Anil Menon
K" 4 #. 3'"-{. m
K.R. Meera

x

Q.26 faw 717 wom WX o= #1 3iy fuTT & & @97 & 3w
Sl @7 e =T §

9T ABC @1 R e W ] i

4
FUA: 7

1. F9A ABC 75,000 HEA T 70/- WieT =4t a#'!%{:/ﬁ el
2. 3ER F &T # ABCH g FE T 309 A4 5

Consider the given question and decide which of the following statements is sufficient to
answer the question.

How was the sale of the company ABC?

Statements:

1. The company ABC sold 75000 units of soaps each at ¥ 70/-.
2. ABC has no other products in the production line.

Ans X1

37T A & % T U 1 kel AT g, e HUd 2 3kl T F7ar
gl

1 alone is sufficient while 2 alone is not sufficient to answer the question.

v 2
Fua 1 32 2T & 3T sEw & ¥ e g 21

Both 1 and 2 are sufficient to answer the question.
503
R & F B T sy 1T &2 99T

Neither 1 nor 2 is sufficient to answer the question.




x4

3R F9w 3 & BT wua 2 36 Tdeg B, Saie ST 1308 qUed Jat
2l

2 alone is sufficient while 1 alone is not sufficient to answer the question.

Q.27 weadr 2018 F 390y IS F FFEN, TUHAA B T FeeE 9wy
(fromsedn) & aremer Hia 2

Who is the Chairman of the Economic Advisory Council to the Prime Minister (PMEAC)
as of February 20187

Ans x{mﬁlr—r (E:Ell
Amit Mitra
AT T

&2
Amartya Sen

v [EEEa-cnie)
Bibek Debroy
ASAT FIJeT

4.

Najma Heptulla

x

Q.28 e TenEr 90 falEeY wid e H = ¥ v 100 Het o go & 9 Fe
#F fOIT 10 Uhs 1 AT o §1 RS 7 oEE Hied # AT &1

A train takes 10 seconds to cross a bridge of length 100 m travelling at 90 kmph. Find the
length of the train in metres.

ans 1,140
v 2150
X130
X120

@2 gfeReT & TH.HTE. §FS E

The 51 unit of resistance is:

Ans

Q.30




Rw o et oy e 1 S a2 a1 @ & a1 JegEET & & He-did s
A sealiRa 22

EaTeIr & wafeas A &

31?_-_]"H'IF|':
() SAWCR o «ifq sad 81
() & N A SAEeHr =l & =g

Consider the given statement and decide which of the given assumptions is/are implicit in
the statement.

Statement:

Honesty 1s the best policy.

Assumptions:

(I)  Honest people are policy makers.
(II)  Each policy must contain honesty.

Ans 3 o dr AR (1) 3R A (1) FHed 2

Neither assumption (I) nor (IT) 1s implicit.
) dael A (1) Ffea g
Only assumption (I) 1s implicit.

e 3 (1) @fga g
<3

x

Only assumption (IT) 1s implicit.
A (1) 3 (1) gt &

Both assumptions (I) and (IT) are

p

Q.31 gfFa=Ts & 7T TgFs Teoae (FLaEd 2018 & 39eey
Fia §?
Who is the newly appointed Governor of Tamil Nadu as of February

Ans x 1 TogoTer Hiordh
Satyapal Malik
.:.~E E ; :

%

~ 2 .
Subramanian Swamy

v &) 2
Banwarilal Purchit

&. T

K Rosaiah

x4

Q.32




W Icc-HFa (Answer Figure) & T3 1 ST &1 318 9e-31pia (Problem
Figure) & fred Tore & T 399 ¢

Problem Figure
< Ao
e
gl 2

Answer Figures

(o[ &

A B C D

Select the Answer Figure that fits in the blank space in the given Problem Figure.

Problem Figure

0| Ao

e
g1 2

Answer Figures

(o] ¢ [x]

A B C D
Ans K1B
< 2D
v A
X4C

@3 T AET FT WaaF Hiadm g
The reflector of a search light is a:

Ans
T T

plane mirror

o 2 E Eﬁm‘

concave mirror

SETATRIT EHOT.

x4,3ﬁ“3&°7

CONVeX mirror

Q.34 37 @wed & gl H o Juy [0 & 38 aeg d@dfaa @ G awe qau e
Tga o & wafaa g

LR

Select the option that is related to the third figure in the same way as the second figure is
related to the first figure.

S




X4.@

Q.35 fia e F T 39gFa Swed o |
F e B dh & Rfdes o softaw A A E e wE W weEtT
g
Fill in the blank with the most appropriate option.
Plants that do not have a differentiated plant body belong to the group .

Ans
1 s
Pteridophyta
ey

Phanerogams

deirmTEer

Thallophyta

FTATHIEST

| Bryophyta

X2

W3

p

Q.36 7 1600 & TFr 9T 6 Giel & HA™ & foiv, 5% afbies R &7 W A3fod
1T foraaT gem?

The interest earned on ¥ 1,600 at the rate of 5% simple interest per annum for 6
would be:

e 1% 496 \
X 22,080 ’ o(\o
V5 T 480
X + % 450

Q37 farafaf@a wedl # €@ Hafta erg
g9 gar
Select the related word pair from the

Goose - Geese

Ans EFfIGI’iFﬁGIT

¥ T asT T
Which of the following is true?

Ans 29 43
1. — = —
( -] 12




29 43

2. — = —

6 12

29 43
K=< =
6 12

- 29 53
Ka == =
6 12

Q.39 fre=faf@a smer #, wear Rea () gan fmmn @ ug sefe & | R
T TRl U SHURYT UG T uTA |

ST, TUUV,VW,?
In the following series, one term is missing as shown by the question mark (?). Select the
missing term from given options.
ST, TU, UV, VW, ?
ans 1 WY
v 2 WX
<3 WZ
< WV

Q.40 YafaeR & A1s@ FaH Red T A 8, 3 ERIDIE IS ]

Nodes of Ranvier are microscopic gaps found within:
Ans ATeASd TFAA
v &
myelinated axons
52
gland cells
kI I e
5 =
osteoblasts
. PleEleonEed
x4 )

chondroblasts

x

Q.41 & 7w Fua W R 1 3 g7 W T T aw
FAT H Aediaiied o/gl

;:;Q’
HY:

ICATTHT T SIeMme 7 79T o=l g0

FegHT
(1) SHRIRTET A &F 7ol T ARG Gl § |
(Iy  srderend gae adig wd E

Consider the given statement and decide which of the given assumptions is/are implicit in
the statement.

Statement:
Teachers must attend workshop.

Assumptions:
(I)  Workshop updates teachers.
(II)  Workshops kill time.
Ans 1 Fael 3t (1) AR ¢

v
Only assumption (I) i1s implicit.




XZMWWHhmaﬁﬁﬁmﬁu
Both assumptions (I) and (II) are implicit.

3%mﬁ@mmﬂﬁﬁ%|
| Only assumption (IT) 1s implieit.
4Hﬁmﬂﬂmﬁuﬂmﬁ%%|

Neither assumption (I) nor (II) 1s implicit.

x

x

Q.42 gt g9vT #T 51§ A BF 9w ewe & A Ao @ s &, o 35 gann
@faa aior off #1 ga7 FifEe?

HEALTHY

Select the option that depicts the correct murror image of the given word when the murror
is placed horizontally below the word.

HEALTHY

s XKYHTLA3IH
X2YHTLAEH
v:HEVILHA
“+*YHTJA3IH

8 i g T gL F g §
Pir Panjal Railway Tunnel is located i
Ans FFH-FIHT

W
Jammu and Kashmir

&2 fereer et
Himachal Pradesh
RIS
Uttarakhand
s
Sikkim

53

~ a

Q.44 &w v g1 X faaR + siw Toly o & 999 &1 e &7 & v Fe A @
FieT AT FUA 94T 21

T TS AT FAT TG § ?

aeg

1. Tl o 9N & T4,97%9A, el wd graon, @ wiar & g e g

2, ol & ITT S 3 |PT el agd e g

Consider the given question and decide which of the following statements is sufficient to
answer the question.

Is Raju fond of travelling?

Statements:
1. Raju has seen East, West, North and Southern parts of India.
2. Raju likes to be in the company of his friends.

Ans X1




TR&T & 3l Gt o 61T, Giel ared Ue @l 9ATed §, T Gt gr aet
3ol 9T AR 2

Both statements taken together are sufficient to answer the question, but neither statement
alone is sufficient.

X 2
WRe FT Iec’ Gol o [olT, aFFT 2 hael YA § W a1 e gEed aet
&l

Statement 2 alone 1s sufficient but statement 1 alone 15 not sufficient to answer the
question.

X 3
T 1 UG 2 W A, TACT dAel g AN TR 1 Il ¢ o ferw AfaiEd
SRR HT RIS B

Statements 1 and 2 together are not sufficient, and additional data is needed, to answer the
question.

W 4
9e5T &1 3co aol & Tol, Ay 1 sheer TS § G G 2 el SATST ael
&l

Statement 1 alone is sufficient but statement 2 alone is not sufficient to answer the
question.

45 v TTA] F FUgAr BT wE HEe avET g 8

The number of neutrons in an atom is equal to the:

1mﬁm-w&ﬁﬁ;ﬁm

Ans

v

Mass number — atomic number
x 2 LA HET
Atomic number
53 W?ﬁ 1 FE
Number of electrons
o 4 FEARA =T

Mass number

Q.46mﬂmwaﬁ,mmﬁmﬁmﬁmlfﬁrm%#

31, e &7 3 & 2 W v a9 & o0 R A adHe o o 82

Seven years from now Virat will be twice as old as Mohinder;f"i
age was one year less thang of Virat’s age. What is Virat’s‘pr
e

Ans 53 a.é. it :
53 years

57 I9
57 years

51 a¥
51 years

.553&

55 years

Q.47 e fEaffier g i et $emt A, B it ¢ & Avems & 10 92 7 570 S | ERT C E
B H R T & #R Tt B T A R AN aw & FEafEm @ et A & qEn
e 9T H e gHT oR e

A swimming pool is filled in 10 hours by three tankers A, B and C. The tanker C is Twice
as fast as B and B is twice as fast as A. How much time will tanker A alone take to fill the
swimming pool?

Ans hd
X1 90 T
00 hours




X 80 e
80 hours
| 40 o
40 hours
, 70 514

70 hours

x

v

Q.48 i TGu 7w IwHE # O fohael i § oo Ol Tgel s TEAT ST 57

R+JM2$#QR?+0@7F3

The number of symbols that are preceded by a number in the given expression is

RAIM2S#QRM™O@TE3
Ans X113
v 21
K32
Kad

Q.49 3 v o W @9 w1 AR a #1 B & 0 qauronst 7§ Ha-aa
Foe F Sedmated SE

S

AT THITRTS GanT % Rl IR “Faeo AR, 39
Fidra @ 3ae WafEat F saer gt @ B

T&Wﬂ:

c°
1. T Fard 39 3OEHT T AT A6 & Tndl 60
2. vaifueET HERE 7 3w W

Consider the given argument and decide which of the given assumptions 1 plicit in
the argument.

Argument:

The campaign of ‘Swachh Bharat’, keep your cities
association didn’t bring much response from its residents.

Assumptions:

1. Residents do not wish to keep their apartment clean.
2. The association had failed in the campaign.

Ans «1.ﬁﬁq§m2ﬁﬁ%ﬁﬁl
Only assumption 2 1s implicit.
, 7 a1 S & 2 siaffed &
Neither 1 nor 2 1s implicit.
3.é|mﬁq§ﬂm 1 afafed gi
Only assumption 1 1s implicit.
] 3t 2 gt gaument afAfka g1

Both 1 and 2 are implicit.

x

x

x

Q.50




30 R &1 a0 L of Wreiied Ty & Gafad gt ¥ Chosen Option : --

© [ A\|[0]

A B cC D

Select the figure that does NOT belong in the following group.

@ | A\|[0]

Ans ?{1_ A
X2C
X3D
v 4B

! ofafEa smpfa 7 frasr feger Aleg 22

How many triangles are present in the fol

Ans o<1 11
X213
X310
V12

Q32 Crafaf@s & ¥ #i7 15376 1 a= e &7
Which of the numbers given below is the square root of 153767
Ans - X 1.128
<2134
X3122
V4124

Q.53 37T 3R Jfa=Ter 7 FARr: 310,000 3N T 15,000 & fder & @r #Een oOF
Fr, JIfeheT e gEET & R, AHEaeT F 8 A 918 39T fder arad o
o) Tger AN A F T Et A fRE ST 7 ater St ange?

Umar and Avinash started a partnership with investments of ¥ 10,000 and ¥ 15,000,
respectively but due to a financial emergency the latter had to withdraw his investment

after 8 months. In what ratio should the profit of the first twelve months be shared among
the duo?

Ans X'1.3 .2




211
K32:3
Ka1:2

Q.54 v dagediy oF 3w, s IR d e sadh SaE fr o e
¢, OF T F WA & s §) o & fear i At #r e @
I e &7

The volume of a right circular cone, whose radius of the base is same as one-third of its
altitude, and the volume of a sphere are equal. The ratio of the radius of the cone to the
radius of the sphere is:

X043 2
X21:1
X34
vi3fa -33

Q.55 A=l & & THR § g TN & Ay g@t YEN & el ¥ e I
FUET S ST § TE TRR F 12 Aeeg R S S 10 RE F a5 s
Fl SH w1 W U B H T 4 TG TR & AAGU AN 8 gAL IR F
Aogl & e FHE wEEm?

Type 1 workers can do three times the work of Type 2 workers. Twelve Type 1 workers
can complete a task in 10 days. How many days would it have taken 4 Type 1 and 8 Type
2 workers to complete the same task?

Ans ){ 1. 20
v 218
X 316
X 417
Q.56 37eiTreR Totetet alfeTer Totelel & BT &, 31191 TotetaT &

Asexual reproduction differs from sexual reproduction in th:

Ans

the offspring shows variations

v
AT 3T FH A G-OaT F FAF T 2

the new organisms are genetfically identical to the parent

@57 (NH,);S0, % & U] & Fael TAw] g 27
How many atoms are present in a (NH.)>SO. molecule?
ans of1.15
X214
X312
X 413

Q.58




forer dor F wrer 3T ofrer T % e Fr et & osETe B ¥ 9 swE
44 @rer #g o & Aoy @ Fr wEwr 36 o Afg Fer fgF Fr wwar 54 @ ar
dor & = T Fr e faEr g
The ratio of the numbers of blue to red balls in a bag is constant. When there were 44 red
balls, the number of blue balls was 36. If the number of blue balls is 54, how many red
balls will be in the bag?
Ans 1 g4
W2 66
< 362

< 4 68

Q.59 fFw wifafds Fea & AegH § a°a 3’7 AEe & F=aT Tt § &t
B o a2
By which legislation were India and Pakistan divided into two independent nations?

Ans 7 AT TagaaT AT 1947

Indian Independence Act 1947

| TeREdTe Focar Hiafaaa 1947
Pakistan Independence Act 1947

N AT femse w1947
Indian Partition Act 1947

. qiferEa faeraa FaEas 1947
Pakistan Partition Act 1947

x

x
x

Q.60 we TEHI FT TER FT @I, BRI AFAS T AsHl o Fal, 4
ATATSAT HT Fhellcl J¢T g, AR IAHT hael T J¢7 ¢ AT
TER FT AT ¥ HU @&t g7

Looking at the portrait of a girl, Sheesha a girl, said, “Her mo
only daughter who has only one daughter and no sons”. How 15
in the portrait?

e sTsTESH 660

Niece

Sister

A e s (Aunt)

Aunt
AT 1 oISl Wg R §

Sheesha 15 the girl in the portrait

x

v

Q.61 s MARF FT F TEAT (T 2018 F HFEN) FeTET FA §7
‘Who is the current (as of February 2018) President of the Indian Olympic Association?

Ans NS AT

x Sharad Pawar

T g
Narinder Dhruv Batra

v

Q.62




TR I fwe AU & T # e AT ST 82

Momentum is measured as the product of :

x 1, G IR @

Ans

Mass and acceleration
x o, G 3 SiEan
Mass and nertia
| ST 3T a1
Mass and veloeity
X 4, ST 3 o
Mass and foree

-

Q.63

10

S5 3 2
4
8 9
] —Boys (7} — Athletic
£ — Cricket [ — Disciplined

& 7w 37 3w F FFER, FiT W G T5F S CAARFH H A
3k Brre ot Qe & w1 e B2

10

53| 2
4
E 2
[ 1—Boys () — Athletic
&y — Cricket ] — Disciplined

According to the given Venn diagram, which number represents,
athletics and also play cricket’? g

Ans ?{ 1.2
Vo3
<31
<411

Q.64 #3elia Pl amad gRult #, @i & 107 @l IS 1 a1 TTHIE HIFT
EiGI

In Mendeleev’s periodic table, the properties of the elements are considered a periodic
function of their:

Ans - TRA] I
Atomic number
vz ULHIU] qodHIH
Atomic mass
| STEIRUT gl
Tonization enthalpy
x o T P 2MPR

Atomic size

x




Q.65 few v wee UT faw &{ AN 77 & & Featoiad FUa # § Hid-a1 S
WO &I Fecl & % v g 7

X AR Y & FiT ¥ Ig F9F &2

FY:
1. X & 317w Fe7 3fifees fow o
2. Y o #7u W e ugeer femm e

Consider the given question and decide which of the following statements is/are sufficient
to answer the question.

Between X and Y who is the better dancer?
Statements:

1. X had given more dance auditions.
2. Y had given more stage performances.

Ans A 1
Tar FUT 1 3T T FUT 2 gAT §

Neither statement 1 nor 2 is sufficient
L 4
3T U 2 GATCT §, T4l FUT 1 3T AT §
Statement 2 alone is sufficient while statement 1 alone is insufficient
X 3
3T FUF 1 9ATT § a9l FUT 2 3hoT IUAT &

Statement 1 alone is sufficient while statement 2 alone is insufficient

HUd 1 3T 2 g yIeg §

Both statement 1 and 2 are st

X 4

Q.66 QoI & & Fie @ 315 ooy et H
‘Which of the following acids is present in

Ans
1 AT 3757
Malic acid

Oxalic acid
v BT HFel j
Formic acid -l
x4 e 3
Tannic acid

Q67 2w 1T AT & FHE F [0 Fa 3UYFA UG I |

Q@i

Select the most appropriate term for the following set of items.

Q @ s

v

Ans

. Celebration




Books

Q.68 ZT el #T a7 TEAT AT HIAT AT SHA 3R F AUEAHS HT Jel T &1
Find a two digit number which is exactly three times the product of its digits?

Ans X 1. 36
X212
X 3 48
V24

Q.69 & wHIfiwee % TS aFad TFAH & o@® B g, A JoA H
g safoe el a@s & o g2 aw §2

‘Who is the author of the book *The Association of Small Bombs®, which is currently
shortlisted for the International Dublin Literary Award?

e R A
Namitha Ghokhale
- apufy T
~ 2

Arundhathi Roy
: Ade T
Chetan Bhagat

F HETAA

"4
Karan Mahajan

v

_— ===

Q.70 wradt 2018 B, FielFdT HT HENTT EH FARET &l
FF 37
As of February 2018, who owns the Kolkata-based IPL te

Ane gha o
. =
Sourav Ganguly

HHAT @
x2
Aamir Khan
MeTE WA
v 53
Shah Rukh Khan
Subrata Roy

olkata Knight Riders’?

X4

Q.71 35 & &= ¥ &€, 9 & 3, A H AG F A § 378 a9 A g0
3T ST & IO A & AT 61 aY §) 9T A a1y B 67

Three years from now Dharitri’s age will be eight years less than twice Eunice’s age. The
sum of their present ages is 61 years. What is Dharitri’s present age?

Ans
v 39 I

39 years




x4 EL)
41 years

x5 43 EL)
43 years

x4 36 el
36 years

Q72 ABCS+H#DEF&=?GHI'2+@
IR T g FT 3T FIF TTell FATH 9L

ABC :@+2 :S#E
ABCS+#DEF&="GHI!2*@

Find the missing term using the above sequence:

ABC: @*2:S$H#E: .
Ans o 1 1H?

X2 2H!

X 3 IHG

2 4 HH!

Q73 1 kWh = ?

Ans of 136 X 10°]
< 23.6x10%]
X 336x107%]
X 43.6x%x1079]

Q.74 Trer Fam # 9 o 3T To o= # G o #
12 & 3R ot & o 1 sEd 14 8 oa
sihea 13.1 & & 7 & oo ol 9 HE

.

In a class, there were 9 boys and some girls. In a ean score obtained by the boys
was 12 while that obtained by the girls was 14. If the overall average was 13.1, what was
the total number of students in the class?

Ans ?( 1.22 /.f’
X219 '
V'3 20
X< 421

Q.75 9.5% a1T¥er WURUT =TT<r 9T IS TRI6 aF 7 T 942 87 S &1 23T & f&ar
arm fAger =T ar?

At 9.5% simple interest per annum a sum of money became T 942 in 6 years. The sum
initially invested was:

Ans X 1.3 626
v 2 ¥ 600
33675
< 43650
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